— 20 10 12

20 10 12
3.7
717 14 2.1
1.4 3.2
690 14 2.1
1.1 3.6
26 2.7
10.6 4.7
3.7 20
3.4 4.2 0.3

0.4



400 1 6.0
1 5.5
350
1 5.0
300 1 4.5
1 4.0
250
\ 1 35
BEREERE BREEREREEERE
IR v $ > ° o g
> \/rb \9\9» \9(19»(19 (19'\{19\,0
@
1.5
L |
0.5
0
-0.5
-1 r
-1.5
18 19 20
10 12 1 3 4 6 7 9 10 12 1 3 4 79 10 12
717 14 @.1)
426 291
1.4 ) (3.2 )
<P8 P9>
15
15 11354 5630 5724 47 21 2% 0.4 0.4 0.5
7175 4264 2 912 147 58 90 2.1 1.4 3.2
6907 4118 2789 140 4 % 2.1 1.1 3.6
268 146 123 7 14 -6 2.7 10.6 -4.7
4177 1365 2812 -94 -36 -57 2.2 2.6 -2.0
3.7 3.4 42 0.0 0.3 -0.4
15



690 14 2.1
411 278
1.1) @6 )
<P8 P9>
18 19 20
012 [13 |a6 [790 |01 [13 [46 [79 [0
6463 6723 689 6951 6767 68l 688 6905 6 907
383 4054 4144 4100 4074 4107 4121 4127 4 118
2627 2669 2745 2851 2603 2744 2757 278 2 789
97 250 29 318 04 128 -11 -46 140
-50 215 206 198 238 B -x 27 4
- 47 35 23 1 66 75 2 -7 %
O
400 ]
300 r O
200
100 r
0 WEP[]J*
-100 r
- 200 B Y © S ,\f), o © S \r),
N ™ A S N ™ A o
NI M >
Ny
NS
617 15 2.6 )
366 250
(1.9 ) @G.5 )
<P10 P11>
(
18 19 20
1012 |13 [46 |79 [1012 |13 [46 [79 [101
5 627 5 973 6 090 6 185 6 018 6 113 6 173 6 165 6 172
3305 3580 3646 3640 3598 | 3650 365 3678 3 666
2322 2393 2445 2545 2420| 2463 2502 2487 2 505
- 125 251 159 340 301 140 8 -2 154
- 74 217 158 224 203 70 5 3 68
- 51 33 1 116 98 70 77 -8 8




616 5 Q.5 )
29 G.1 ) 30
499 (0.7 ) 500 (3.0 )
<P14>
| |
6166 3661 2504 153 68 84 2.5 1.9 3.5
29 1910 1086 824 B R & 51 3.0 8.1
30 499 1043 1157 786 4 21 -7 0.7 1.8 -0.9
500 1927 1203 724 57 32 25 3.0 2.7 3.6
<P12 P13>
(
506 42 9.1 442 47 11.9
888 43 5.1 812 35 4.5
604 67 12.5 564 50 9.7
289 -39 -11.9 270 - 32 -10.6
1175 - 13 -1.1 1 084 -5 -0.5
241 - 32 -11.7 240 -31 -11.4
173 -4 -2.3 154 0 0.0
, 437 -9 -2.0 359 0 0.0
, 576 39 7.3 533 40 8.1
, 289 -11 -3.7 262 - 15 -5.4
( 1 440 104 7.8 1 216 109 9.8
26 Q.7 )
(10.6 )
4.7 P8 P9
(
18 19 20
012 |13 [46 |79 |01 |13 |46 [79 |10 1
300 313 271 245 261 258 282 281 268
181 194 153 157 132 152 163 161 146
119 119 119 83 129 106 119 120 123
3 21 EP) 25 -39 55 11 3% 7
2 3 7 5 -49 ) 10 4 14
5 2% 4 21 10 13 0 2 6




40 r O
(]
20 O
0
-20
-40
-60
18 19 20
10 12 13 4 6 7 10 12 13 6 9 10 12
3.7 3.4
4.2 0.4
<p8>
(
15 24 25 34 35 4 45 54 64 65
3.7 5.9 5.0 3.2 2.9 3.3 1.9
3.4 5.9 4.5 2.6 3.0 3.6 1.7
4.2 6.0 5.7 4.0 3.0 2.9 2.8
0.0 1.2 1.0 -1.0 0.1 -0.7 -0.1
0.3 2.3 0.9 -0.4 -0.2 0.6 -0.6
-0.4 0.0 1.1 -2.0 0.9 -2.6 1.3
3.7 0.2
20
3.9 0.2
0.3
( <pP15> )
—_—
+
6.0 - == =
55 A
5.0 g
4.5 =3
40 | T8
T
35
0.0
SN N NP LN N
> o P o > AR o > RN
S
K



